# **Apartment in Qormi**



#### **Qormi, Central**



€245,000

Total Rooms: 4

Bathrooms: 1

Floor Area (m²): 91

Reference No: 240231007-205

P☐ Bedrooms: 2

## **Apartment - For Sale - Qormi**

QORMI—APARTMENT Situated on the 3rd floor in a new smart block to be served with lift, close to all amenities. This accommodation consists of an Open-plan Kitchen/dining/Living Area, Bathroom, 2 double bedrooms, a drying Terrace, and a front Balcony. The property is being offered in Shell form and Freehold. Optional interconnected Garages are also available at an extra cost. To view the property, contact your RE/MAX Agent.

## **Features**

✓ Lift

PVC Piping

Balcony

### Rooms

Kitchen/Living/Dining : 10.25 x 3.5 m (35.88 m2)

✓ Double Bedroom : 4.1 x 3 m (12.3 m2)

Bathroom: 2.62 x 1.94 m (5.08 m2)

✓ Double Bedroom : 3.8 x 2.98 m (11.32 m2)

Open Space : 3.65 x 1 m (3.65 m2)

Open Space : 1.75 x 1.75 m (3.06 m2)

# **Gallery**















Julian Galea RE/MAX Centerparc - Qormi

M: 99441900

E: julian@remax.com.mt

T: 27344344

#### RE/MAX Centerparc - Qormi

Centerparc Complex, FIrst Floor, Triq it-Tigrijiet, Qormi, Malta